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2 1S o s Ol SIS Ly
Js| b ol slass OLBT slass 0,95 pU
61 21 40 59iS sulo,pd Sidgi slys wliyluw
75 14 61 Kisily Swl foliowasS 95 wlisluw
187 62 125 V3 548 silorgd 53,95 S wlislso
61 17 44 Ollg> H9isS (siloypd S5,90 Siw wlayluwo)
160 75 85 OVlpigi 1S (5ilorgd 5395 Siew wlisluwo
26 16| 10 OliLils g Gusleo,gisS (siloypd S0 Sicw Wiyl
343 159 184 OLlg>gi )5S (silopd 53,95 Siw wliyluro
32 12 20 S3,90 Siow WS e wliyluw
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13 4 9 Ulpsol 39S (sulo,pd Sidgi s> wliyluw
7 3 4 ol J5isS sillo,gd Sidgs sl wlisluse
31 14 17, Olypi 39S (silo,pd Sidgi sl wlasluwo
8 0 8 2958 29 (silorpd Sidgi Slys wlaslue
2 0 2 Oliws,S 59iS sulo,pd Sidgi slys wliyluw
6 3 3 ol Siily Sl f0liwdgS 95 wlisluo
6 0 6 s Olsalydl Siily Sl f0liwdgS 95 lisluo
12 5 7 Olypi Kisily Swl foliowsS 95 wlisluw
3 0 3 Sgo, Ulwl,s Siily Sl f0liwdgS 95 wlisluo
8 0 8 Oliwses Sl Sl foliwssS 95 wlasluo
1 0 1 Olcouszsly 9 Glbiuw Sl Sl foliaasS o5 wlasluo
20 5 15 o Siwily Sl foliwssS g5 wlisluo
5 0 5 oloyS Siily Sl f0liwdgS 95 lisluo
4 0 4 2o>lugs 5 wglSps Siily Sl f0liwdgS 95 wlisluo
3 1 2 olowls Siily Sl f0liwdgS 95 wlisluo
7 0 7 Ol Sl Sl foliwssS 95 wlasluo
1 0 1 Jwos)l OVl )50 59iS (silo,pd 85,90 Siw wléyluwo
9 4 5 Ulpanol OVl )3 5948 (siloypd 55,90 Siw wlasluo)
14 9 5 sl OVl )30 5948 (siloypd 55,90 Siw wlasluwol
2 2 0 8 Ol YL, 30 15isS (slosgd 53,95 Siw wlislus)
3 0 3 ENIE-RCICH Y| OYLS 550 598 (sulopd 53,90 Sicw Wiy Luwol
45 17, 28 Olypi OVl )30 5948 (siloypd S5,90 Siw wliyluwol
15 3 12 Sgo,y Ulwlys OVl )30 594isS (suloypd S5,00 Siw wlayluwo)
1 0 1 o vluwlys OYLS )3 598 (silo,pd 3,90 Sicw wlaslwo
9 0 9 Oliw;gs OVl )50 H9iS (suilo,pd S3,90 Siw wlayluwo
19 3 16 ol OYLuS,30 15uisS (slosgd 53,95 S wlinlus)
16, 2 14 o8 UYL )50 595 (silo,pd 83,90 Sicw wlasluwo
4 0 4 959 OVl )30 598 (siloypd S50 Siw wliyluwol
10 6 4 lo,S OVl )30 594isS (sulopd S50 Siw wlayluwo)
9 6 3 olisilo,S OYLaS,30 19usS Cslorgd 53,90 Siw wlinlus)
1 0 1 OlowdS UYL )50 59iS (silo,pd S3,90 Siw wlisluwo
3 0 3 Ol YL, 30 15uisS (slosgd 53,95 S wlisluus)
2 0 2 ol OYLS )50 59888 (suilo,pd S3,95 Siw Wy Lol
14 2 12 S350 OV, 30 55uisS (slosgd 53,95 Siw wlisluus)
3 3 0 00,0 UYL )50 598 silo,pd 83,90 Sicw wlasluwo
7 5 2 Ul OVl )30 5948 (siloypd S50 Siw wliyluwol
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13 10 3 lpsol Ollg> 1S (silo,pd S350 Sicw wliyluwol
5 0 5 Olyps Ollg> H9uisS (silo,pd S350 Sicw wliyluwl
6 0 6 Sgo, Ulwlys Ollg> 1S (silo,pd S350 Sicw wliyluwl
1 1 0 o vlwl,3 Ollg> H9iuS (sulo,pd S3,95 Siw wliyluwo
4 1 3 Oliw;gs Ollg> H9iuS suloypd S3,95 Sicw wlisluwo
5 2 3 ol Ollg> HguiuS siloypd S3,y95 Siw wlisluwo
10 1 9 o8 Olilg> H9iuS (sulo,pd S5,y95 Siw wlisluwo
5 0 5 939 Ollg> oS suloypd Ss,y95 Siw wliyluwo
3 2 1 Olo,S Ollg> HoiuS (siloypd S3,95 Siw wlisluwo
2 0 2 olbewdS Ollg> 15uiiS (silo,pd S350 Sicw wliyluwl
1 0 1 Olew, Ollg> 15.iiS (silo,pd S350 Sicw wliyluwl
2 0 2 lya50) Ollg> H9uiuS (sulo,pd S3,95 Siw wliyluwo
4 0 4 Ul Olilg> H9iuS (sulo,pd S3,y95 Sicw wliyluwo
1 0 1 Ulpsol OVpigi HouiuS suloypd Ss,95 Siw wlisluwo
2 2 0 sl OVpigi HouinS suloypd S3,95 Sicw wlisluwo
2 2 0 s Ulsyl,sl] OVlpigs H9uisS (siloypd S3y90 Siw wlasluuo
4 1 3 O, OVlpigs ;9uisS (silo,pd S350 Siw wlasluuo
41 20 21 Olypi OVpigi HouiaS (sulo,pd S3,95 Sivw wliyluwo
2 0 2 wvgi> Ulwlys OVpigi HouiuS (suloypd S350 Sicw wlisluwo
30 14 16 S, Ulwlys OYlpigi HouisS (silo,pd S350 Sicw wliyluwo
3 1 2 oo wlwl,> OVlpsigs HouisS (siloypd S350 Siw wliyluwo
8 6 2 Oliw;gs OVlpigi HouinS sulo,pd S3y95 Siw wlisluwo
8 5 3 ol OVpigi HouiuS suloypd S350 Sicw wlisluwo
4 3 1 Oloow OVlpsgs HoiiS (silopd S350 Sicw wlinluwo
25 4 21 owlé OVlpigs »9isS (silogd S3y90 Siew wlasLio
10 3 7 839 OVlpigi »eisS (siloyed S3ye0 Siew wlisloo
1 0 1 £8 OVlpigs youisS (siloypd S350 Sicw wliyluwo
1 0 1 Oliws,S OVlpigi HouinS sulo,pd S3y95 Sivw wlisluwo
5 4 1 lo,S OVpigi HouiuS suloypd S350 Sicw wlisluwo
3 3 0 oliilo,S| OVlpigi HouinS suloypd S,95 Siw wliyluwo
2 1 1 )Y OVlpigi HouisS (sulo,pd S350 Sicw wliyluwo
2 1 1 S350 OVlpigi »eisS (siloyed S3ye0 Siew wlisluo
2 1 1 US50,0 OVlpigs ;9uisS (suloypd S3595 Siw wlasluwo
3 3 0 Ulaos OVlpigi HouisS (silo,pd S350 Sicw wliyluwo
1 1 0 S5 OVlpigs y9uisS (siloypd S350 Siw wliyluwo
3 0 3 sl bl 5 Guleleo)guisS (siloyed S3y95 Siow wlisluso
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1 0 1 A\l Olilils g plgleo,5iS (siloypd 3,95 S wlisluwo
4 0 4 Olyps OliLils 9 gueleo,guisS (siloypd S0 Sicw Wiyl
2 2 0 s> Olwl,> Ol g pulslen,guisS (siloypd S50 Sicw Wiyl
10 10 0 S, Ulwl,> OlLils 9 uleleo,guisS (silo,pd S3500 Sinw Wiyl
2 2 0 1959 bl 5 Gloleo)0uisS (siloypd S3y05 S wlisluo
2 1 1 lo,S OlLils 9 Guleleo,9.iS (silo,pd S5)90 Sinw wlisluw
1 1 0 0lya5500) OlLils 9 Guleleo,9.iS (silo,pd S3,00 Sinw wlisluwo
1 0 1 S3Syo Ul 9 paleleoygisS (silorpd S3595 Sivw wliyluwo
1 0 1 Jus)l Ollg>gi )68 (silorpd 55,95 Sicw wliyluwol
12 5 7 ulpansl Oblg>95,9.8 (silo,pd 3,00 Siw wlisluwo
7 5 2 sl Ollg>g5 56415 (silo,pd S350 Sicw wliyluwo)
11 3 8 S paiigy Oblg>9i,9.iS silo,pd S3,00 Sinw wlésluwo
39 20 19 Olypi Olilg=gi )9S (siloypd S3,95 Sicw wlislunol
5 4 1 S)lixs 9 Jlxoylp> Oblg=>95 598 (silo,pd 5,90 Siw wlisluwo
4 1 3 wvgi> ulwlys Olilg>gi )68 (silorpd 55,95 Sicw wliyluwol
48 13 35 Sgo, Ulwlys Ollg>95,9.S (silo,pd 3,00 Siw wlisluwo
27 13 14 oo ulwl,> Ollg>g5 56415 (silo,pd S350 Sicw wliyluwo)
27 17, 10 Oliw;gs Oblg=>9i,9.iS (silo,pd S3,00 Sinw wlisluwo
28 16 12 ulxss Olilg=gi )9S siloypd S3,95 Sicw wlislurol
2 2 0 Olioow Olg=gi)5-isS (silosgd 53,9 Sinw wlislun
26 12 14 o8 OLlg>g5 )5S (sl g8 S5,05 Sicw wliyluwo)
19 5 14 959 Oblg>9i 598 (silo,pd 5,00 Sinw wlisluwo
6 0 6 £ Olilg>gi )9S (silorpd 55,95 Sicw wlislunol
10 0 10 olews,S Oblg>95 5948 (silo,pd S5,00 Siw wliyluwo
25 16 9 olo,S OLlg>giyesS (siloypd S3y80 S wlasLowo
4 4 0 oLislo,s| Olg=gi)5-isS (silorgd 53,9 Siw wlislun
1 0 1 Oliwds OLlg>g5 )5S (sl g8 S350 Sicw wliyluwo)
3 2 1 OS] Oblg>95 598 silo,pd 5,00 Sinw wlisluwo
10 0 10 Oliw,) Olilg>gi )9S (silorpd 55,95 Sicw wliylunol
7 3 4 S3S 0 Oblg>95 ;9.8 (silo,pd S5,00 Siw wlisluwo
7 6 1 US50,0 Ollg>g5 56415 (silo,pd S350 Sicw wliyluwo)
11 9 2 Olaod OLlg=>gi,51S (silopd 3,95 Siw wliyluwo
3 3 0 Sy Ollg>g5,5.iiS (silo,pd S350 Sicw wliyluwo)
1 0 1 Juss)| S3y90 S WIS o wlisluw
3 1 2 ulpsol 3,90 Siow WS i Wiyl
6 1 5 Olypi S3,90 Sicw WS e wliayluw
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4 0 4 Sgo, Ulwlys S350 Siow WS o Wiyl
4 4 0 Ol 3,950 Siw WS itwo Wiyl
1 0 1 o8 3,90 Siow WS i Wl
4 4 0 Olo,S 3,90 Siow WS i Wiyl
2 0 2 oliiilo,S 83,90 Siow WS o wlasLuol
1 0 1 S3S 0 83,90 Siow WIS o wlayluwol
1 1 0 050,80 83,90 Siow WS o Wl Luol
5 1 4 Ulaod 83,950 Siow IS o Wl Luwol

945




